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1.064 x 1000 = 8.955 x 1000000 =
2.622 x 1000 = 8.079 x 10000 =
5.959 x 1000000 = 3.319 x 100000 =
6.38 x 1000 = 7.046 x 100 =
2718 x 10 = 4.535 x 10 =
6.847 x 10000 = 2.324 x 100 =
10.307 x 10000 = 8.202 x 1000000 =
9.151 x 10000 = 6.513 x 10 =
8.051 x 1000000 = 7.937 x 1000000 =
8.822 x 1000000 = 1.562 x 10000 =
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1.064 x 1000 = 1064

2.622 x 1000 = 2622

5.959 x 1000000 = 5959000

6.38 x 1000 = 6380

2718 x 10 = 27.18

6.847 x 10000 = 68470

10.307 x 10000 = 103070

9.151 x 10000 = 91510

8.051 x 1000000 = 8051000

8.822 x 1000000 = 8822000

=LA

8.955 x 1000000 = 8955000

8.079 x 10000 = 80790

3.319 x 100000 = 331900

7.046 x 100 = 704.6

4.535 x 10 = 45.35

2.324 x 100 = 232.4

8.202 x 1000000 = 8202000

6.513 x 10 = 65.13

7.937 x 1000000 = 7937000

1.562 x 10000 = 15620
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